Np mP T pEsS TN [ Hp <300 [ Hy €[300,1125] [ Hy € [1125,1300] [ Hr € [1300,1600] | Hr > 1600
2-4 SR1 SR2
o 50-200 |- Rt
200-300 |22 SR5 (++) / SR6 (--)
0 >5 SR7
50000 |22 SR3 SR8 (++) / SRI (--) SR54 SR55 SR56
>5 I\[jcts <5 I\]jcts <5 Z\]jcts <5
=120 24 SR10
200-300 |-
24 SRI1 SR12
<120 020 55 SR15 (++) / SR16 (--)
24 SR17 (++) / SRI8 (--)
200-300
1 25 | SR13 (+4) / SR19
50200 | 2% | SRi4(-o) |SR20(++)/SR21(-) SR57 SR58 SR59
>120 22_?1 SR N]'ets =5o0r6 N]'ets =50r6 N]'ets =5o0r6
200-300 |-~
24 SR23 SR24
<120 207200 1755 SR27 (++) / SR28 (--)
24 SR29 (++) / SR30 (--)
200-300
2 25 | SR25 (+4) / SR31
50-200 2-4 SR26 (--) SR32 (++) / SR33 (--) SR60 SR61 SR62
>5 I\]jets >6 I\]jets >6 I\]jets > 6
>120 — SR34
200-300 |-
s0200 |24 SR37 (++) / SR38 (--)
<120 >5 | SR35 (++) / | SR39 (++) / SR40 (--)
>3 200-300 | _2=% | SR36(--) [SR37(++) /SR3B(--)
- >5 SR39 (++) / SR40 (--)
24 SR42 (++) / SR43 (--)
>120 | 50-300 |- SR41 SR (+4) 7SR (-
300500 |, , SR46 (++) / SR47 (--)
Inclusive | Inclusive >500 — SR48 (++) / SR49 (--)
300-500 | _, SR50 (++) / SR51 (--)
>500 | = SR52 (++) / SR53 (--)




